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which of the following expressions will represent

Question 1

Given f(r) = 7
D f'()? —F(x-ﬂq)- =) = om \5_%—%?"
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The limit }llim represents the derivative of a function f ata
+0

h

number ¢. Determine f and c.

Compare. this with
=2 i cth~fwe)

hsd h
Le W have Prerh)=th”
and -F-QQ,) =q
= $x) =" and (=2

a) Jf(z)=(2+z)c

) Afx)=2"c=2
o Jf(z)=(2+2)]c
d) Jfzr)=(2-z)P c=4

e) Jflz)=xzc=4
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(6 ) 2 o i Given that f(z) =
The limit lim represents the derivative of a function f

hosD
at a number ¢. Determine f and c.
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2z? — 3, find f'(x) by forming the difference
fla +h)— f(z

f(z)
h

, and taking the limitas A — 0

Y20ty ey — (2x30

a) | f(x) = cos(1/6ma) c= V? %(C) . & a 0 h
= — 2 -
) T 2 b) f'(z) does not exist. "‘26( +Z‘{~h"fh ) 3x—31 +2X X
b) - f(z) = cos(z). ¢ cares h
o = csx o ars o e D
o - f(z)=—cos(z) c= > - h
2 - d 4z +3 =3 .
i — — —l
&) - flz) =cos(l/6wz) c= 7—; b ey 4z —3 q'x T\ M — “L‘-X‘“B —Zh s
o Question 7 ~lL X~
e — flz) = cos(z) e = \_25 C The graph of a function f is shown in the figure. oS |Y\>i730
Question 5 ) ‘\ 8 ;
Given that f(z) = 6xz% — 2z and ¢ = 4, find f'(c) by forming the \\ . i
difference quotient, i(c_—%hi?—_f(i) and taking the limit as h — 0 \/ /°\ E
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0=R=p = Bt =T — 0.

fz) = 9z r<1

At which numbers ¢ is f continuous but not differentiable? Br+C z>1

(h) —
X==2 = \)O\W\p O\\SCAW"/\V\W'% \/U”] C/{/\e,bk Ol\ﬂ:@f%bmbﬂlwo .QAMF )h +U)
X=1 = Removabl¢ ofscantr D B=-18,0=27) i B(l‘rh)'—\-c_ q Q)MBhTB*C“i

b) Atc=-4,c=-2c=1landc=7 B B st
X=¢ > Contihwous bux hot w B{5m18,0=20} W7D nrst b

O\ﬁeﬂ%‘b\?wk o - {B--36C bfg} ,Qw,\_PL

d Atc=1 C (‘_ugp) Wst N
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a) Every where differentiable

c) Atc =4

e) _Atc=-4

- e) . {B=18,C =45} hﬁb h
Question 8
Given that Question 10 Q‘IW[; lch(h ‘-‘% @ _U ‘9 %-’{8
f(z) = { 22 r< -1 If f(— ) = 2and f'(—4) find the equation of the tangent line to f at
R U R | z =
and ¢ = -1, find f'(c), if it exists. @ . W by®
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0 wro c) y=2x-6
NI S At . CU)=~6 weans the slo
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d o1 g h 9\% 6t -E—av\g,wt e at x=d¢
e = z 21 (s‘) = 26
2%“’] ‘\‘Zh \ | % \/ e) y T+ 2 \\S c}
e) . f'(—1)does not must""—'_—'~'_-_—h”~~ —- -~
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(f)l:j:::):the values of the co 52:;52 ;d C sol that the function given W hm \ S L BY \ (\M F(-\DM (g- %03 = m QXNXO)
= Y=y (>< 12)

below is differentiable.
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